
Major Components

ATX M/B
Two Optional 60mm Fans

ATX PSU or
Mini Redundant PSU

Internal 2.5”/ 3.5” HDD

Three 120mm Fans

Internal 2.5” HDD or
Custom 2.5” Hot-swap Cage

SlimODDTop Cover

Four Expansion Slots

Power Button & Power Indicator
USB 3.0

Reset Switch

3.5” HDD
Trayless Hot-Swap Bay

Slim ODD Assembly
1. Loose 2 screws on the top to take out the slim ODD bracket
2. Loose 2 screws on both sides to remove slim ODD cover
3. Insert slim ODD into the bracket
4. Tighten M2 screws to secure slim ODD

Rear 60 mm Fan Assembly
1. Tighten T5 screws to secure 60mm fans

3

4

1

2

• Internal 2.5” HDD
1. Loose 3 screws on the top to take out the 2.5” bay bracket
2. Tighten M3 screws to secure 2.5” HDD

2.5”/ 3.5” HDD Assembly

1

1

• Internal 2.5” HDD

3

2

2

2

• Custom 2.5”
Hot-swap Cage

• Custom 2.5” Hot-swap Cage
1. Loose 3 screws on the top to take out the 2.5” bay bracket
2. Loose 2 screws on the side to remove the 2.5” bay cover
3. Tighten M2.5 screws to secure custom 2.5” hot-swap cage

• Internal 2.5”/ 3.5“ HDD
1. Tighten M3 screws to secure 2.5” HDD
2. Tighten #6-32 screws to secure 3.5” HDD

ATX M/B Assembly
1. Place standoffs to desired locations before installing M/B
2. Tighten M3 screws to secure M/B

1

2

Expansion Card Assembly
1. Tighten #6-32 screws to secure add-on cards

ATX PSU Assembly
1. Tighten #6-32 screws to secure PSU

Mini Redundant PSU Assembly
1. Loose 4 screws on the PSU bracket
2. Remove the PSU bracket
3. Tighten #6-32 screws to secure PSU

1

2

3

Installation Guide
3


